Mineral Science

Extractive Metallurgy

Cost Analysis Assignment







Name :

____________________________________________________________________________

As Chief Engineer for the Barrco Ltd, you have been asked to prepare a preliminary cost analysis for a new milling operation.

a) Using the 1938 costing sheets provided, determine the cost of the equipment required  for the provided flowsheets. Although the 1938 costs may seem outdated, we can apply an  factor to the totals and see the effects of inflation.

b) List all of the equipment needed, find their cost (estimates) and obtain a total cost.

c) Prepare a cost list for :

a) the mill

b) the smelter

Questions :

1) What is the total equipment cost for the mill?      ___________________________

2) What is the total equipment cost for the smelter?     ________________________

3) In 1938, a can of Coca-Cola cost $0.05 cents, today the same can cost  $1.25, this represents an inflation rate of 25 times the original cost. Apply this value to the 1938 equipment costs.
a) Total Mill cost x 25 = ______________________ x 25 = ____________________

b) Total Smelter cost x 25 = __________________ x 25 = _____________________
